TRIG ~ SECTION 1.3 — TRIG RATIOS & RIGHT TRIANGL@ES

Solving a Right Triénglé using the info given about the

measures of a triangle’s sides and angles to calculate the measures
of the remaining sides and angles.
*use Trigonometric Ratios to solve right triangles
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*Use Reciprocal Relationships to solve for cosecant (csc), secant
(sec), and cotangent (cot).
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Ex: Fmd jgheo 6 trig ratios for ¢ in the following triangle.

s,

H

H- 3

. - L _ 4 C3%© - — =

_ A _ = S © = KB Z

60} @“'H"ﬁ C A.—-&
) 4 3
] - T Conk ©= A - T
ST YT 5~ 4



%éccz - ﬁé’. gj

Complementary Angles and Cofunctions

*The 2 acute angles in a right tnangle are always complementary
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*Preﬂx co- in cosine, cosecant and cotangent refers toa oot +w

complementary angle relationship. These 3 ratios are known as reD
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*2 trigonometric modes: Radian and Degree
*We will work in Degree mode for now.
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Ex: Explore/Discuss 2, p. 25

Ex: BEwvaluate to 4 significant digits using a calculator :
a) sin 23.72° 0-4033h) tan 54°37°1.4% ¢) sec 49.31° 1. ‘534‘
d) cot 12. 8604 %82 ¢) csc 77°537 1022
*Given the value of a @fzg rat10 we can compute the measure of an
angle.

-We saw sin 23.72° = 0.4023 .

¢ =arcsin 0.4023 -or- » =-5in"0.4023
o =23.72°

**NOTE: Sm 22 ] 1s an 1nverse function and is NOT the same as
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Ex: Find each acute angle ¢ to the accuracy indicated:
a) tan ¢ = 1.739 (2 decimal places) (0. 10 N
b) 6=sin"0.2571 (nearest 10”) 1" 52 50 F Comeot e D15 9 0 MO
c) ¢ =arccos 0.0367 (nearest minute) ¥ 54
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Accuracv for Triangles (also in front cover of textbook) = rewa we +> 54

Angle to Nearest Sig. Dig. for side measure
1° 2
10’ or 0.1° 3
- D"or0.01° 4
10” or 0.001° 5

Ex: Solve thé following right triangles
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a) ¢ =83.7°,b=3.21km b) b=638ft,c=134{t
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